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I 3 mwn: Halakhic status of newborns
a  Girls: at one day, can be nT1 mxnv, per v. 1; at 10 days (7 for nm+3 for nar) can be mar, per v. 2
b Boys: at one day, can have valid status for N2, per v. 3 ("T "19); or v. 4 (per 2”27 YV 12 YRYNY? )
i 3777 5w 123 S8vpw? /7 infers these from v. 4 (151 implies any male, nap1 implies any female) —
1 And: nwRry, WX WX is just normal rhetoric
ii ~ And: generate np>t for ma» (boys only —v. 7)
¢ Both: are myna 8nvn (v. 5), RN in NN YR (v. 6), and exempt from 12» (once born - v. 7),
d A1 allow mYRIw mother (widowed from 1n3) to eat nmn (v. 8)
i And: prevent 113 na-mother (widowed from Y& husband) from eating nmn (v. 9)
ii ~ Challenge: even a n12n (from Y81w’ who then dies) cannot eat nman (3:1 Mn1’)
1 Per: w13 (v. 9) — must return in “pristine state” as per her youth
2 Justification: if we only had n% X yn, we would think that she may not eat nnm1In because she was originally one per-
son and now she is two (born, separate child), but n1awn is still one body (as before) — eats

(a) And if: we only had mp13, we would reason that she may not eat because she was originally svelte and now

swelled, but if she already had a child, she is "7712” >we need n% PR yIn
3 However: we haven’t resolved the mwn (although we’ve justified the two mw~T)

(a) Answer (nww "7): our case is a 113 with 2 wives, one of whom is a w17 and he only has sons from 17w and then
he has a 1-day old son with nwy — this invalidates the servants of his household (who are partially owned by
this nw1 12) from eating NMN
(i) Contra: »ov '7's opinion that this would apply even to an 1219 — 9"np, only if already born

e /w7 inherits and bequeaths
i Challenge: he is inheriting from his father to bequeath to his brothers — but they could short-circuit him in any case
1 Answer (nww “7): he inherits from his mother to bequeath to his paternal brothers
(a) But: only if he is already born, but not an 721
(i) Reason: he dies first (before mother) and 72pa MR NR W7V 120 PR to bequeath to his paternal brothers
1. Challenge: there was a case where a child continued spastic movements after mother died
2. Answer: that is similar to a lizard’s tail — it’s already dead, but continues spastic movements
2 Answer (K27, quoted by 9o» “17 /7273 71): he cuts into nM132 pon

(a) And:if a child is born after father dies, he does not cut into 7122 pYn — per v. 10 (1> ¥19)

(b) amr7am19Version: if a M1 is born after father’s death, doesn’t get v *a — per v. 11 (V)

(c) Note: all of these versions of 90y "7 112 In quoting X117 are NI>n>

f  Death: anyone who murders him is liable — per v. 12
i And: he is considered a full “inn” for his parents
1 Meaning: for m7aR (they fully mourn if he dies)
2 Contra: »"aw1 who rules that until 30 days, he is Y01 pav
3 Block: »awn could subscribe to our ruling; if we know that he had full gestation of 9 months (no 91 pav)
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